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1.

The number of prime numbers up to 20 is
(1) &

(2) 6
@3 7
4) 8
The prime number, among the following, is

1) n

(2) 306
3 401
(4 Bo1
2+ 11 =
vl = 7
X
- 2
_._._,.-"'_
14
(1) E
19
(2) 5
19
(3) 13
29
(4) 9

% (1544 0-11) =

(1)
(2)
(3)
(4)

& 885

J5625 + J56:25 + /0-5625 =
(1) 8225
(2) 8325
(3) 8425
(4) 8525

(4)

GET IT ON

Google Play

20 SOD Mo PPN DoPso HoP;
(1)
(2)

(3)
(4)

o =1 o @

208 08 ST Nows

(1) 20:
(2) 306
(3) 401
(4) 501
2+ 2 T
24+ 1
' 24—
2
1
(1) ~9—
19
(2) 3
19
(3) 15
29
(4) 1z

% (16-4 + 0-11) =

(1) 10
(2) 20
(8) 30
(4) 40

V5625 + /56-25 + J/0-5625 =
(1) 8225
(2) 8325
(3) 8425
(4) 8525
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If the average of x, y, z and 60 is 75, then the
average of (x - 17), (y + 30) and (z - 13) is

(1) 80

(2) 175

(3) 70

(4) 656

The average of the even numbers between
21 and 29 is

(1) 25

(2) 245

(3 24

(4) 235

The average of k numbers a,, ag, ..., 8 i8 128,
If the sum of these numbers is 2214, thenk =
(1) 14

(2) 16

(3) 18

(4) 19

A can do a piece of work in 25 days and B in
20 days. After they worked together for 5 days,
A goes away. The number of days required for
B to complete the remaining work is

(1) 16
(2) 13
(3 11
4 9

Pipe A fills an empty tank in 8 minutes and
pipe B can empty the full tank in 10 minutes.
If both the pipes are opened simultaneously,
the time required to fill the tank is

(1) 40 minutes
(2) 36 minutes
(3) 30 minutes
(4) 24 minutes

5)

(8

10.
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21 S0 20 WG5S &% B0 Dow®
e a)
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(2) 245

8 24

(4) 235

k SO0 ay, ay, .., 8 O NOP00 128, &=
Soe Jngo 2214 ©oNB k=

(1 14
@2 16
(3 18
4) 19

2E SO0 A 25 Bed Sabred, e B
B 20 Serd Jrodonrod. TOGEr
5. eren HONND BhS Sovs A Y
Faird. WADS SV JroSanerdd B S

3] Sere Sowy

1 15
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@ 11

4 9
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11.

12.

13.

14.

165.

In a right-angled triangle, one side is 5 cm and
the hypotenuse is 13 cm. Then the third side is
of length

(1)
(2)
(3)
(4)

4 cm
8 cm
12 em
16 em

If the selling price of an item is T 55, one gets
a profit of 10%. To get a profit of 30% on the
same item, the selling price is

(1) T 65
(2) TT5
(3) 85
(49 T89

By selling an item for ¥ 150, one gets a loss of
25%. The cost price of the item is

(1) T 175
(2) %185
(3) %190
(4) T 200

If a man covers 8-4 kilometers in 3 hours, then
the distance he can cover in 6 hours 1s

(1) 12km
(2) l4km
(3) 16km
(4) 18km

A train, 150 meters long, is running at
54 kmph. The time taken by it to pass a
telegraph pole is

(1) 8 seconds

(2) 10 seconds
(3) 12 seconds
(4) 15 seconds

(6)

11.

12.

13.

14.

15.
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16.

17.

18.

19.

An alloy contains 36% of copper. In a sample

of 2 kilograms of the alloy, the quantity of

copper is

(1) 360 gm
(2) 720gm
(3) 1080 gm
(4) 1440 gm

In a 40-litre mixture of milk and water, the
water is 10%. How much water is to be added
to get a new mixture in which the water i~
20% 7

(1) 65 litres
(2) 6 litres
(3) 7 litres
(4) 8 litres
16% of % is equal to
X
(1) =
X
(2) 3
X
(3 =
! 5
X
4 = et
(4) 55

The compound interest on ¥ 10,000 for 2 years
at 10% per annum is

(1) ¥ 1,200
(2) ¥ 1,600
(3) ¥ 1,800
(4) 22100

The simple interest on T 4,000 for 8-;— months
at 9% per annum is

(1) 256

(2) T265

(3) T276

(4) T 295

1)

16.

17.

19.

20.
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21,

‘Competition Success Review' monthly is
published from

(1) Mumbai
(2) New Delhi
(3) Kanpur
(4) Jodhpur

“White Revolution” is related to
(1) Milk production

(2) Fish production

(8) Wheat production

(4) Oil seeds production

India is the largest producer and consumer of
(1) Tea
(2) Coffee

(3) Sugar
(4) - Paddy

Who was regarded by Gandhiji as his political
guru ?

(1) Bipin Chandra Pal

(2) Bal Gangadhar Tilak

(3) Lala Lajpat Rai

(4) Gopal Krishna Gokhale

Present Chief Minister of Uttar Pradesh is
(1) Akhilesh Yadav

(2) Mulayam Singh Yadav

(3) Mayawati

(4) Amar Singh

(8)

21.

(2]
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26. Oscar Awards are given in the field of 2. ‘wmb erHey O  Jordd
(1) Economics H020HoDS ?
(2) Literature (1) &S &[0
() Sports @) s
(4) Cinema (3) .,:_!am

4) Sos Do
27. National Institute of Nutrition is in the State

of 27. =AAH DK &S HoP &, 3o
(1) Andhra Pradesh 1) o 534

(2) Himachal Pradesh (2) rirdSe BO§

(3) Madhya Pradesh (3) s S3E

(4) Uttar Pradesh (4) &85 558

28. Twelfth Five Year Plan will be operative for|28. & sood’ 125 DSOSy @erds

the period S00)Eod 7

(1) 2010 -2015 (1) 2010 - 2015
(2) 2013 -2018 (2) 20132018
(3) 2011-2016 (38) 2011-2016
(4) 2012 -2017 (4) 2012-2017

20. 308arE’ 70 TS0 THD DOAD VS

29. The State which contributes 70% of Indian

Coffee and Silk is [eTalom! oo
(1) Assam (1) eIno
(2) Punjab (2) So=d
(3) Karnataka (3) Sgot
(4) Kerala (4) 3¢

30. The famous “Gayatri Mantra” is from 30. ENY TS Wowo” S &od ?

(1) Atharvaveda (1)  oesEse
(2) Samaveda @ &ndse
(3) Yajurveda (8) cberditso

(4) Rigveda (4) ©OAo
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81. The famous tombs of Qutub Shahi rulers are | 31. l«}fﬁhg 5 Jon FoHe HErho

located close to which of the following forts ? e $oS0S” eaom ?

(1) Red Fort in Delhi (1 ¢ e (&D)

(2) Agra Fort in Agra (@) e o (apr)

(8) Gwalior Fort in Gwalior (@ b o (mdabb)

(4) Goleonda Fort in Hyderabad (4) ﬁ‘aboc.‘. 5% (‘Q‘dWS}
32. Red Fort of Delhi was built by 32. &S I ' Joys

& W oyf

(2) Jahangir (2) e¥ohb

(3) Aurangzeb (®) Tvohdd

(4) Shah Jahan @ &S eSS

83. Which language is popularly called ‘Ttalian of |t RErOALS &D 8 Gy o) D FED

the East’ ? SS0PorT DaRD ?
(1) Telugn | Q) Bexrd

(2) Kannada (2) 56

(3) Malayalam (3) oo

(4) Tamil . ) 8%

34. &0 VIOFD HTRTD
(1) .28 3¢
2) 5. sSoorartiym
@) 2. u& rorches

() V.Laxmi Narayan (4 Sosrord HB¥dorio

(4) Kandukuri Veeresalingam

84. Father of Andhra Renaissance was
(1) G.L.Chetti
(2) P. Anandacharyulu

35, Som> So¥toyols O D DHESE

35. Konda Venkatappaiah is called by the title HOBT ?
(1) Desha Bhakta (1) OF ¢
(2) Desha Uddharaka 2 B
(3) Andhra Ratna (8) oG 68
(4) =0 590

(4) Andhra Kesari
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36.

37.

Scheme aimed at providing training for
employment to unemployed youth in Andhra
Pradesh is

(1) Rajiv Yuva Kiranalu

(2) Indira Yuva Kiranalu

(3) Rahul Yuva Kiranalu

(4) Sonia Yuva Kiranalu

In which district of Andhra Pradesh, is the
‘Andhra Pradesh Paper Mill’ located 7

(1) East Godavari

(2) West Godavari

(3) Khammam

(4) Adilabad

Of the following, who was the Speaker of the
Andhra Pradesh Legislative Assembly ?

(1) D. Narsimha

(2) K Venkateswarlu

(3) M. Veeraiah

(4) D. Sripada Rao

Of the following, who acted as the Chief
Minister of Andhra Pradesh for the shortest
period ?

(1) D. Sanjeevaiah

(2) N.Janardhan Reddy

(3) J.Vengala Rao

(4) Nadendla Bhaskara Rao

Which of the following is based on renewable
source of energy ?

(1) Thermal power plant
(2) Nuclear power plant
(3) Solar power plant

(4) None of the above

{11)

36.

37.

@)
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41.

The most populous State in India is
(1) Bihar

(2) Rajasthan

(3) Madhya Pradesh

(4) Uttar Pradesh

In terms of population, the smallest country in
the world is

(1) Vatican City
(2) Tuvalu
(3) Nauru

{(4) San Marino

Part-IV of the Indian Constitution deals with
(1)  Union —~ State financial relations

(2) Fundamental Rights

(3) Fundamental Duties

(4) Directive Principles of State Policy

Which Amendment to the Indian Constitution
provided Constitutional status to Panchayati
Raj institutions ? "

(1)  71* Constitution Amendment

(2)
(3)

(4)

72™ Constitution Amendment
73™ Constitution Amendment
76'" Constitution Amendment

The first Chief Minister of Andhra Pradesh
was

(1)
(2)
(3)
(4)

N. Sanjeeva Reddy
B. Gopala Reddy

B. Ramakrishna Rao
M. Chenna Reddy

(12)
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Which of the following is a viral fever ?
(1) Typhoid
(2) Dengue
(3) Cholera
(4) Tetanus

The most populated Metro City in India is
(1) Kolkata

(2) Chennai

(3) Delhi

(4) Mumbai

Former Union Home Secretary, Vinod Kumar
Duggal became the Governor of

(1) West Bengal
(2) Manipur

(3) Rajasthan
(4) Uttarakhand

Chairperson of the newly established

Bharatiya Mahila Bank is

Usha Anantha Subramanian
Usha Amrit Raj

Usha Panigrahi

Usha Raman

(1)
(2)
(3)
(4)

Most of the Sugar production in India is from
(1) Andhra Pradesh and Kerala

(2) Andhra Pradesh and Karnataka

(3) Uttar Pradesh and Bihar

(4) Uttar Pradesh and Maharashtra

(13)
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51.

The last Chief Minister of Hyderabad State

was
(1)
(2)
(3)
(4)

K. Lakshman Bapuji
M. Chenna Reddy
B. Ramakrishna Rao
K.V. Ranga Reddy

Ramappa Temple was built during the rule of
(1) Satavahanas

(2) Kakatiyas

(3) Eastern Chalukyas

(4) Reddys

Hyderabad city was built by

(1) Muhammad Quli Qutubshah
(2) Abdullah Qutubshah

(3) Muhammad Qutubshah

(4) Abul Hasan Qutubshah

‘Sribagh Agreement’ was signed by the leaders
of Circars and Rayalaseema in

(1) 1935
(2) 1936
(3) 1937
(4) 1938

Gandhi visited Hyderabad in connection with

the upliftment of Harijans in the year
(1) 1831
(2) 1932
(3) 1933

(4) 1934

{14 )
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56.

57.

Which Vitamin is known as Ascorbic Acid ?
(1)
(2)
(3)
(4)

g aow >

As per 2011 Census, the total population of |57.

Andhra Pradesh is
(1) 846 crore

(2)
(3)
(4)

T-46 crore
9-46 crore

T7-16 crore

Which of the following is a non-infectious

disease ?

(1) Tuberculosis
(2)
(3)
(4)

Leprosy
Plague
Goitre

The first Education Minister of India was
(1) B.R. Ambedkar

(2)
(3)
(4)

Jagjivan Ram
C.D. Deshmukh
Abul Kalam Azad

The first woman Governor of a State in free

India was
(1) Sarojini Naidu

(2) Sucheta Kripalani

(8) Vijayalakshmi Pandit

(4) Fathima Beevi

{156)
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61.

If the compound interest is calculated
half-yearly, the interest payable at the end of
one year on ¥ 16,000 at 10% rate is

(1) ¥ 1,600
(2) 1,620
(3) ¥1,640
(4) ¥ 1,680

Aluminium of volume one cubic meter is used
to prepare an aluminium sheet of 1000 square
meters. Then the thickness of the sheet (in
cm) is

(1) 01

(2 001

(8) 0001

(4) 00001

The volume of a sphere of radius r is
® ixd

@ Exd

@ m
@ 2 pd

The sides of a rectangle are in the ratio 4: 9
and its area is 144 sq.m. The perimeter (in
meters) of the rectangle is

ARl RN
(2) 26
(3) b2
(4) 144

If v is the volume of a cube of edge 3 cm and V
is the volume of a cube with edge 12 em, then
p:V=

(1) 1:4

(2) 1:16

3 1:32

(4) 1:64

({16 )
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1) T 1,600

(2) ¥ 1,620

3 T 1,640

(4) < 1,680
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(1) 18

@2 26

@) 52

(4) 144

©0id 3 2o.5. 585 05 WBS0Sres0
y oM 12 0. S PSP
OBB0ST L0 V @008 ©Hptd v: V=

(1) 1:4

(2) 1:16

(3) 1:32

(4) 1:64
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66. The total surface area (in sq.cm) of{gg, 6 2o.2n. x 9 o2, x 12 Ro.2b.

the rectangular box with dimensions
6emx9cmx 12 cm is S0Srered QQﬁ &5 b@ KJDQJ‘Q

27 BP0 (3.20.0.08")
(2) 54 (1 27
(3) 468 (2) 654
(4) 648 (3) 468
(4) 648

67. Let a be the side of a square, t be the side of
an equilateral triangle and a : t = 4 : 5, If §|687- &S S&TEPHE0 a ©), of SHourso

and T are the perimeters of the square and the 196He) ﬁ)ﬂctuﬂ,n:t-uﬁegsm

triangle respectively, then 8: T = Eod. 5, T o SEIMT SSUE ey Sod
(1) b5:4 Ohed HipFosond MDY ©Hptd
(2) 16:16 §:T=
(3 156:16 1) 5:4
68. The arca of the triangle with sides 4 cm, 5 em, E: e
J4lem is )
B 68. 4 »o.2v., 5 20.2., V41 2o.2n. ghereorr
=% 595 (@gbedeo
@ 241 em 1) 110/5.230.5.
5
® 3Vilscem @ 2441 S0,
4) 20/41 sq.cm @) gJﬁ 3305
69. The decimal representation of E:EE is @ 2041 5.0.5.
1 9246 69. %2- & 580N &S0
2) 9264 (1) 9246
(3) 9280 (2) 9264
(4) 9820 (8) 9280
70. ‘The largest fraction, among the following, is S
: ; " |70, $od 3208 €8 b P30
1) = 5
7 (1 7
3
(2) 1 (2) .i.
9
® = ® =
11 11
@ == @ =
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71 If “ARMY" is coded as “BSNZ”, then the code|71. “ARMY” D “BSNZ" i+ €8 33 eSp®
word for “SOLDIER" is “SOLDIER” & §°8 380
1) TMNEJFS
:2> TPMEJFS ¥ we
(3) TPNFJIS 2 Tp,m a2
(4) TPNEKFS 4 =
(4) TPNEKFS
72. If the word “QUESTION" is coded as ) e i s CE 45
“NOITSEUQ”, then the word coded as Q A 3
“NOISSIMMOC™ is ©ped “NOISSIMMOC” 8 §°6 eanis S0
(1) COMMISSIONER (1) COMMISSIONER
(2) COMMITTEE (20 COMMITTEE
(3) COMMITMENT (8) COMMITMENT
(4) COMMISSION (4) COMMISSION

Directions: In questions 73 to 75, the SWenlgody: 78 0D 75 05 Mo SHEIre o8 3G

sequences follow a pattern. Identifying | SOy, ed /Mol  Doghw
it, you have to fill the blanks with the M% I8, gbo Sroome.
appropriate n!ﬁgmﬁwsgﬁm
L |
o
73. 1,8,6,10,15. 28, 36 73. 1,3,6,10,15, _, 28, 36
(3 23 3 28
4 26 (4) 26
4. 1,4,10,28, __, 244 74. 1,4,10,28, _, 244
1 62 1 62
@2 72 @2 72
3) 82 (3) 82
4) 192 (4) 192
75. BE,CG,DI,__, FM 76. BE. CG.DL . . FM

(1)
(2)
(3)
(4)
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Directions : In questions 76 and 77, choose the odd

76.

79.

one out.

(1) 14
(2) 12
(3) 13
4) 16

(1) 25
(2) 49
(3) 64
(4) 81

During 2014, the Independence Day of India
falls on which day of the week ?

(1) Tuesday
(2) Thursday
(3) Friday
(4) Sunday

Ha¢h=32+h2-33h. for any number a and
b,then {1+ (-1 +{(-1=1}=

(1) -25

(2) 25

3 5

(4) =56

Three persons stand at the vertices of a
right-angled isosceles triangle A ABC. If B is
north to A and C is east to A, then the
direction of C with respect to B is

(1) North-East
(2) South-East
(3) North-West
(4) South-West

{19)
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DY : 76 DO 77 ($Hod” BONITD) Jobs

76.

@

Savod.

(1) 14
(2) 12
(3 13
(4) 16

(1)
(2)
(3)
(4)

2014 3 BoSSWo grOE DEY FrBoe;
BS8yso TEod’ D Sers éotnod ?

(1) voiWortio

oo

HECO

asfortio

25
49
64
81

(3)
(4)

b‘r&umﬁm a,b© 353 asb=a”+b*-3ab
oD BIPED {1+ (D)) = (1) % 1} =

1) =25

(2) 25

@ b5
4 -5

28 ooafn SNdEry (Bghwo AABC
oY), STesy S  SQe
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The longest river of India is 81.
(1) Krishna
(2) Mahanadi
(3) Godavari
(4) Ganga

Which of the following countries is located in
Africa ?

(1) Oman

(2) Morocco

(3) Bolivia

(4) Afghanistan

Ajanta and Ellora caves are located in the
State of

(1) Gujarat

(2) Karnataka

(3) Maharashtra

(4) Madhya Pradesh

Satish Dhawan Space Centre is located at
(1) Sriharikota

(2) Hasan

(8) Trivandrum

(4) Bangalore

Father of Local Self Government in India was
(1) Lord Ripon

(2) Lord Lytton

(3) Lord Mayo

(4) Lord Curzon
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18 International Children’s Film Festival
was held at

(1) Adilabad
(2) Vijayawada

(3) Warangal
(4) Hyderabad

Founder of Gupta Dynasty was
(1)  Sri Gupta

(2) Samudra Gupta

(3) Chandra Gupta

(4) Rama Gupta

Milk tastes sour when kept in the open for
some time due to the formation of

(1) Lactic Acid
(2) Citric Acid
(3) Acetic Acid
(4) Carbonic Acid

Katyayani Vidmahe, who recently received
the Central Sahitya Akademi Award, is a
professor of Telugu in

(1) Satavahana University

(2) Kakatiya University

(3) Telangana University

(4) Mahatma Gandhi University

Headquarters of South Central Railway are at
(1) Secunderabad

(2) Kazipet

(3) Guntur

(4) Vijayawada

{21)
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Maulana Azad National Urdu University is at |91.

(1) Ahmednagar

(2) Lucknow
(3) Hyderabad
(4) Nanded

Conversion of chemical energy into electrical
energy occurs in

(1) Dynamo

(2) Electric heater

(8) Battery

(4) Atomic bomb

Of the following, who was the first social|9s,

reformer ?

(1) Ramakrishna Paramhamsa
(2) Swami Vivekananda

(3) Raja Rammohan Roy

(4) Dayanand Saraswati

Which of the following States does nof share a
boundary with Andhra Pradesh ?

(1) Chhattisgarh

(2) Maharashtra

(8) Madhya Pradesh
(4) Kerala

Nobel Prize winners in Chemistry, Economics
and Medicine for 2013 are from

(1) Canada

(2) United Kingdom

(8) Germany

(4) United States of America
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96, Which one of the following is a Central |98 30876 So(ls DFRTTOON0

University ? (1)  &dmdate Do echo

(1) Osmania University @ sEbad MEPDopate

(2) Kakatiyva University (8) TS M DoNedho

(3) Nagarjuna University (4) o= e =odd &%

(4) Maulana Azad National Urdu DETFO00

University
97. IS8 o B0 O Fes dod

97. Human Rights Day is observed on 3ot

(1) December 10 (1 d&»owb 10

(2) March 10 (2) 508 10

(3) April 10 (3) DpS10

(4) May 10 @ Do
98. The two planets lying between the Sun and (88, g 00D ARty Yy &) To

the Earth are m

(1) Mercury and Mars (1) endads SHbaks eomribnd

(2) Venus and Mars | (2) DD SodA eomrsRs

(8) Mercury and Venus ’-e (3) 0GOS SDAD HIEHE

(4) Jupiter and Saturn ' (4) 5 Bk ¥

99. Chairperson of National Commission for 99, DSAS STHBO edoh  EDES

Backward Classes is B

(1) Justice V. Eswaraiah (1) SogEbsrg D, Segtady

(2) Justice J. Chelameswar @ wgonsirg 8. Se¥d

(8) Justice L. Narasimha Reddy (@) wgabsurg J6. $sho TG
(4) Justice B. Chandra Kumar (4) argebsard O. So Hird

100. Who won the 2013 U.S, Open Tennis Men’s | 100 2013 dpowdts’ eBs EDS BYD

Singles title in September 2013 ? DN MoASy HHIN Rexd HBTE
(1) Max Mirnyi () =58 oo

(2) Radek Stepanek 2) o388

(3) Novak Djokovic @ Sof efDS

(4) Rafael Nadal @ o asd
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